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PART - A/9TT — 3
I Answerthe following:
fy=y a7 gax QT
() What do youunderstand by 'Extreme Values'?
I R QAT T A §7
(11) If'y = f(x), write the first order and second order conditions for a local maximum.
At y = f(x). QT BT B forg v 7 fgda Fife a5 ok for |
(111) Define point of inflection
R TRad faeg B TR AR |
(iv)  Whatis meant by integration factor of a differential equation?
fersiy Qradhel THIARUT & TG IO 3 MY T HH 57
(v) Write the general form of the linear autonomous first-order differential equation.
T ARIP—IAH—PIC dhel THIHROT BT FHAT w9 ford |
(v1) Define steady - state value for a dynamic system.
fersdt el gomelt & forg ReR sraxen Hea &1 uRaTfid & |
(vi))  Define Bordered Hessian Determinant.
g eRET R &t aRd o |
(vii))  Write the mathematical condition for quasiconvexity of a two variable function.
fasit fg—=r wom & srefoarat & ) T wdt ford |
(ix) Write one example of a linear first order difference - equation.
AT gera-wife siar TR BT T FTETERT o |
(%) What is meant by 'solution' to a difference/differential equation?
et sierR weiraor a1 arader siawor @ BT W AT T IR §?
PART - B/¥T3T — q
UNIT - I/ §&TS — |
2. Findthe maximum and minimum values of the fol lowing functions.
(i) y=x'-3x+1 7.5
(i) y=2x"-0.5%x"+2 7.5
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OR/ 31244d1

Ity = (K1) is the production function of a firm [K = Capital, [ = Labour]; 'P" is the price of the output
produced by the firm and "W and 'r' are the returns to labour (wage) and capital (interest) respectively and
C - WL + 1K represents cost of production, then write the profit maximization problem of the firm. Also
write the first-order and second order conditions for profit maximization.
ofR, v = [(K.L) R0 &7 &1 Searest wer ©; P, 99 B4 g1 Scaifad axg @1 @raa 8, 'W' i r 4 (1)
3R g (K) @ a3 3 RY S arel 7oTg) 3R &1t (SR) 8, C= WL + K &F @1 a1ra 8, & %5 &1 o
IRTTTIRY 3 TR o, 1 — Afwawaxr & forg worm dife vam fgdia — sife &5 o+ for |
15

UNIT - 1l/ 3518 — 11

3. Assume that the utility function of a consumer is U = xx, where x, and x, are the quantities of
Commodities 1 and 2 respectively. Price of Commodity 1 i.e. Px, =1 and price of Commodity 2 i.e. Px=2
and the money income of the consumer is M. Find the utility maximizing quantities of both the

commodities using the Lagrangian method and also check whether the second order conditions for

p—t
W

maximization are fulfilled or not.

AR U = x,x, ST 31 SR Gt B; x, Y x, TG — 1 3R TG —2 B AR P = 1, P, =2

TGS B BT & SR M ST B T & A x, 3R x, BT A AT Pl S SR 2 SR &
ST Bl & | TaH T8 +f 7ard 3 aifranae 3 i — e e g € v & e |

OR/ 3Jreqar

Given Y =100 K"L", wage rate (W) = 30, Cost outlay, C = 1200 return to capital (interest rate) r = 40.
Write the constrained output maximization problem and solve it to find out the quantity of labour and
capital that the firm should use in order to maximize output. What is this level of output? [Given C =
1200]
afe Y = 100 K'L" (STIe wer), #7 <X, W =30 AFTd C = 1200, {ol W 2ot o r=40 2. o) 5% fip
Wmﬁmmaamwmmmmawwﬁmmﬁ,
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UNIT - 1Y 1 — 1
(1 T : - ffare
4. (i) Write the general form and general solution of the lincar, first - order. autonomots difference
‘ i

8

equation.
(i) Solve the difference cquation:
Y.,=05Y,+10
Ensure that it also satisfies the initial condition
Y,=1
(i) T gorm — PR Wrad iR WNBHROT BT AP WY YaF AP g ozl |
(i) TR FNHIOT B FT N
Y, =05Y,+10
RS 91 Y, = 1 b1 1 81 1 gRkerd & |
OR/ 3104t
(1) Write a brief note on the basic 'Cobweb Model'.
(11) Given Demand function, X, =1 §-3 E,
and Supply function X, =-3+4P,_,
Find the equilibrium price and determine whether the equilibrium is stable.
(i) Sredq Aieet WX U wferat femoft & |
(i) afe =T e, X, = 18 - 3P, 3R gfdd wer, X =-3+4P, 8 dl g HEa 1d B AR T8 A T

~l
W

~1
(o3

TN &Y T | ReR & AT e |
UNIT - IV/5&1% — IV
5. (i) Writethe general solutionto theddifferential equation %}t—'+ ay=b 5
(i) Solvethe diﬂerential equation d—};+ 2y=8 10
() srahel FHH & —+ay b Em'emmgaﬁﬂﬁ
(ii) ﬁﬂ%ﬁﬁﬁmmaﬁwﬁ —+2y 8
OR/ 3rdr
Solve the differential equatlon ~r=0.1y- 1 and ensure that it satisfies the initial conditiony (0)=S5att= (1)3

ﬁﬁ%@ﬁmﬂﬁwﬁgﬂﬁ%=0-ly—laﬁ?ﬂgﬁﬁﬁﬁ@ﬂﬁaﬁﬁﬂguﬂmﬂﬁy(m=aat

=0 P HIE HRAT ¢ |
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